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DU MPhil PhD in Adult
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Topic:- DU_J19_MPHIL_ACEE

1) Classroom discussion is normally considered as-

eI T4 3 dX W & & AT o §-
[Question ID = 15022]

1. Cognitive/FTTATcHe® [Option ID = 30086]
2. Selective/TsITcA [Option ID = 30088]
3. Affective/3ITarcdHe [Option ID = 30087]
4. Effective /9#11dT [Option ID = 30085]

Correct Answer :-
o Effective /981TdT [Option ID = 30085]

2) Which of the following book written by Ivan Illich?

garer sfora qanr faf@a foeer F @ e & geas 82
[Question ID = 15062]

1. Demoralized society/@HTsT &7 df-IT 81T [Option ID = 30247]
2. Democratic society/alehdif3e FHTST [Option ID = 30248]

3. Decentralized society/%ﬁﬁg_cr JATST [Option ID = 30245]

4. De-schooling society/3T-EefeiaT FATST [Option ID = 30246]

Correct Answer :-
« Decentralized society/fashdlehd FHTST [Option ID = 30245]

3) Which of the following Organization looks after the quality of technical and Management
Education in India?

freafaf@a & & Fla a1 Heree aRa F Tty iR e Rratm A qoracar F 37182
[Question ID = 15051]

1. NCTE/ua1gEs [Option ID = 30201]
2. AICTE/Tw3msdiéYs [Option ID = 30203]
3. CSIR/HTH3MSHR [Option ID = 30204]
4, MCI/TaHI3Ts [Option ID = 30202]

Correct Answer :-
o NCTE/UTrRﬂéﬁé [Option ID = 30201]
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[Question ID = 15065]

1. It has full autonomy in setting course work/J& ITEAHH T HIH TATAT et 7 qoT FaRIeddr & [Option ID =
30257]

2. It prepares own guidelines for admissions and fees/@g Jaer 3R ek & fIT e & fEATAERN IR HLalm &
[Option ID = 30258]

3. It can award degrees under its own name/Jg 39sT 118 & dgd 134T W&l & FahdT & [Option ID = 30260]

4, Tt can affiliate other institutions/Tg 3= ATATAT I &g T TohdT g [Option ID = 30259]

Correct Answer :-

« It has full autonomy in setting course work/Jg IISAHH T HIH FTAMIT el H T FaRIcdT & [Option
ID = 30257]

5) Which of the following is not a Professional Course?

fArafaf@a & ¥ Fia sarawRs yeawa 78 §2?
[Question ID = 15066]

1. Fine Arts/<IfeicT @ell [Option ID = 30264]
2. Pharmacy/®THT [Option ID = 30261]

3. Engineering/3sfifaraRaT [Option ID = 30263]
4. Law/=hlefeT [Option ID = 30262]

Correct Answer :-
« Pharmacy/®r#T [Option ID = 30261]

6) Which one of the following is a research tool?

frafaf@d & @ i 91 v ety 39T 2
[Question ID = 15034]

1. Questionnaire/g2=ATaelr [Option ID = 30135]
2. Diagram/fa= [Option ID = 30136]

3. Illustration/T=T [Option ID = 30134]

4, Graph/am® [Option ID = 30133]

Correct Answer :-
o Graph/am® [Option ID = 30133]

7) Which one of the following is a non-probability sampling method-?
frafaf@a & & Fla a1 v IR-werregar aaTRor Ay §-2
[Question ID = 15026]

1. Simple random sampling /&3l ATE TG AHeATRIOT [Option ID = 30101]
2. Quota sampling /arIeT FHATERIOT [Option ID = 30104]
3. Cluster sampling /aFel€cX sTHsITshIUT [Option ID = 30103]

A_Stratifiod camnling /iaor oooragor [0ntion 1D — 201027
L2 T EN B o )
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+ Simple random sampling /&XeT ATE TS THATIOT [Option ID = 30101]

8) Which one of the following is an indication of the quality of a research journal?

frafaf@a & & Fla 71 v Sreter (2t afeT) Y oracar #1 @& 82
[Question ID = 15031]

1. G-index/sit F@ehieh [Option ID = 30123]

2. H-index/ W= g=repieh [Option ID = 30122]

3. Impact factor /9319 e [Option ID = 30121]
4.1 10-index/I 10~ 31eshATOTHI [Option ID = 30124]

Correct Answer :-
o Impact factor /919 &Rk [Option ID = 30121]

9) Which one of the following is not a type of experimental method?

fArfaf@a & ¥ sl @ f g R adi e
[Question ID = 15028]

1. Single group experiment /Tehel HHg 919 [Option ID = 30109]

2. Residual group experiment/3fafrse &#{g 9ter [Option ID = 30110]
3. Rational group experiment /d&HaTd HHg FATT [Option ID = 30112]
4. Parallel group experiment/HHTTAEHg STaT [Option ID = 30111]

Correct Answer :-
+ Single group experiment /Tehel H&fg 1T [Option ID = 30109]

10) Which is not a correct statement?

FIT AT FUF TE AL 82
[Question ID = 15049]

1. A test cannot be both valid and reliable/Tar T{ietor 3¢ 31K faageiar g1t 1gT & HehaT & [Option ID =

2. iotlezg]cannot be valid without being reliable/Te T{i&ToT [a2aaART glet & To=IT AT 18T &I TehaT [Option ID

3. :t?)e(;igcg be valid without being reliable./T& T{i&ToT faadeiar giet o for=AT 3% & Tehall &1 [Option ID =

4. iotlezf]can be reliable without being valid. /3% 8tet & fo=arsiy Tar adieTor faeadeir g devdr g1 [Option ID =
30193]

Correct Answer :-

« A test can be reliable without being valid. /3% 81t & fo=Tsiy Ter gdreTor fAager 8 Tehar &1 [Option ID
= 30193]
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1. Applied science/caTagrikerid et [Option ID = 30094]
2. Basic science/gfaiarel fa=ireT [Option ID = 30093]

3. Social science/aTATSe Ta=ATeT [Option ID = 30095]
4, Literature/@Tfgca [Option ID = 30096]

Correct Answer :-
» Basic science/gfarér fa=reT [Option ID = 30093]

12) Folk High School were created on the concept of

Al 39 QAT S GUROT T S=I14T AT 4T
[Question ID = 15057]

1. Piaget/TaamaIe [Option ID = 30225]

2. N.F.S. Grundtwig/Ts1.U%.Td. Grundtwig [Option ID = 30228]
3. John Dewey/SiteT 34 [Option ID = 30227]

4, Paulo Friere/dr3elr % [Option ID = 30226]

Correct Answer :-
o Piaget/famaie [Option ID = 30225]

13) An example of non-personal method of Data collection is called

3T g Y IN-safFdera ggfy =1 v 3emEor §-
[Question ID = 15045]

1. Telephone interview/<eltlsT ATETTchR [Option ID = 30179]
2. Group interview/d#g HTaTlcshX [Option ID = 30178]

3. Schedule/37==Y [Option ID = 30177]

4. Interview/&m&Tceh X [Option ID = 30180]

Correct Answer :-
« Schedule/317gT [Option ID = 30177]

14) Policy statement of UGC regarding extension in Higher Education was given in the year

3o freT F faear & @y & it &1 Afey aeraea a¥ F fear arar 4
[Question ID = 15056]

1. 1980 [Option ID = 30224]
2. 1977 [Option ID = 30223]
3. 1975 [Option ID = 30222]
4. 1970 [Option ID = 30221]

Correct Answer :-
e 1970 [Option ID = 30221]

15) Jan Shikshan Sansthan is a scheme sponsored by
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[Question ID = 15054]

1. Local Self Govt./TUT=r &4. [Option ID = 30216]

2. World Bank/fa2a s [Option ID = 30213]

3. Respective State Govt./FaRId I TR | [Option ID = 30215]
4, Government of India/8X&R TR T [Option ID = 30214]

Correct Answer :-
 World Bank/fa?a & [Option ID = 30213]

16) Diagnostic research studies is a category of research that aims to

AT IFTHUTT AT ITHUTT Y TF Ao § v 320w ¢
[Question ID = 15050]

1. Test the relationship between variables/TR & &I TS &7 G&TOT Y [Option ID = 30198]

2. Analyze characteristics of something /foraT dieT i fawar3it 1 faeeyoT &I [Option ID = 30197]

3. Achieve new insights of a concept/Te 3TTURUT & A5 3idese 9Ted &Y [Option ID = 30199]

4. Determine the frequency with which something occurs/3® 3fgfce @ feiRoT &Y forereh &Y $o gl &
[Option ID = 30200]

Correct Answer :-
o Analyze characteristics of something /feraT DT ST TAANAT3T T fa2ewoT 3= [Option ID = 30197]

17) Ex Post Facto research means

TFy NFe e REd FrAdaa @
[Question ID = 15033]

1. The research is carried out along with the happening of the incident/ere=Tr & afed g1l & HTY-ATY HTHeTT
T SITaT & [Option ID = 30131]

2. The research is carried out after the incident /€re=1T & §Te; 3TeT&T=T fohaT STTelT & [Option ID = 30129]

3. The research is carried out keeping in mind the possibility of an incident. /TRET GEAT ST THTGAT I 1T H
@d gU 3feEeTeT fohaT ST g1 [Option ID = 30132]

4. The research is carried out prior to the incident-/37]HeTeT Te=T & Tgel fohaT STl &- [Option ID = 30130]

Correct Answer :-
« The research is carried out after the incident /&re=TT & §Te; THTST T ST & [Option ID = 30129]

18) Identify the correct sequence of research steps-

eiter IO & HE FA F IgA-
[Question ID = 15029]

1. Selection of topics review of literature interpretation of findings, data collection /fawr o=, rfgcy TaaT
forsepst &Y cameEaT, 3er Jarg [Option ID = 30116]

2. Selection of topic, review of literature data collection, interpretation of findings/Ta I &1 T, TfgcT
HHYETT, 3T HIg T TalreT, fAsest v sarear [Option ID = 30113]

3. Selection of topic, data collection, review of literature, interpretation of findings. /fawT &7 I+, 3T TIE,

L feer By ooflenr reewt &Y oo [Opotion ID = 30115]
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TAYTaeT, 3T HIg T Iue, fosent I sgrear [Option ID = 30114]

Correct Answer :-

« Selection of topic, review of literature data collection, interpretation of findings/faw=r &1 og=, @fgca
HHYETT, 3T T ST FHIETT, sehst T sarear [Option ID = 30113]

19) Identify the category of evaluation that assesses the learning progress to provide
continuous feedback to the students during instruction.

fRret & et BT i dEa A gorfay 7 e w1 & o e afafear vare w3 are Fearer i Aol Ay
qEHT F
[Question ID = 15020]

1. Diagnostic/fsigreT [Option ID = 30078]

2. Summative/3JRMeAs [Option ID = 30080]
3. Placement/cer@#e [Option ID = 30077]
4, Formative/9R & [Option ID = 30079]

Correct Answer :-
¢ Placement/cerg#ie [Option ID = 30077]

20) According to Radha Krishnan Commission the aim of Higher Education is —

TUTHSUT HTANT F HTAR 3T A& FT 327 ¢ ?
[Question ID = 15052]

1. Both To develop the democratic values, peace and harmony and To develop greater personalities who can
give their contributions in politics, administration, Industry and commerce./aliehdi 3 :Hfa"r, enfer 3R
HEHTT T oo sl 3R 318 & 31f8e cafddaca [Option ID = 30207]

2. To develop the democratic values, peace and harmony/aerdiT3s ﬂ,\ﬁl"r, enfar 3R gesta &1 faerr g LT
[Option ID = 30205]

3. To develop greater personalities who can give their contributions in politics, administration, Industry and
commerce./31T8& & 317t afFdca [AFfad Fter & forw S Terelifa, Temde, 3¢t 3R arfored # 19«1
AITETeT & Thot &1 [Option ID = 30206]

4. neither To develop the democratic values, peace and harmony nor To develop greater personalities who
can give their contributions in politics, administration, Industry and commerce./sT af dllehcTaeh :a\mf’r, enfer
3R HeHTa &1 AT e R T &) 31feres & 31er [Option ID = 30208]

Correct Answer :-

« To develop the democratic values, peace and harmony/eltehelifeh e, Mifc 3R HEHTE T fdehra HTeT
[Option ID = 30205]

21) In finalizing a thesis writing format which of the following would form part of
supplementary pages.

AT @t 9T F Iifaw w7 & F rafaf@a & & Fler a1 @ gat w1 e g
[Question ID = 15041]

1. List of tables and figures/¢er 3T 31iahsT 1 gt [Option ID = 30161]
2. Bibliography and Appendices. /3ra =T 3 gRfIse| [Option ID = 30164]

3. Conclusion of the study/3T¢aa1=T T %Y [Option ID = 30163]
www.FirstRanker.com
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Correct Answer :-
« List of tables and figures/&set 31X 31iersT shr =T [Option ID = 30161]

22) In fiber optics communication, the signal travels in the form of
HIST i eFd TOR &, ReTo & T & Iram a1 8
[Question ID = 15039]

1. Light wave/9eTer &t @1gX [Option ID = 30153]
2. Radio wave/f33T aXaT [Option ID = 30154]
3. Electric wave/fdegd oaT [Option ID = 30156]
4, Micro-wave/#T8sh! ol [Option ID = 30155]

Correct Answer :-
« Light wave/Jahrer &I &g [Option ID = 30153]

23) India’s first Defense University is located in which state of India?

HRA FT Iga &7 fafigaey sva & e sa # Rua 2
[Question ID = 15053]

1. Haryana/gR3mom [Option ID = 30209]

2. Uttar Pradesh/3caR 9¢2r [Option ID = 30211]
3. Andhra Pradesh/31er 9¢er [Option ID = 30210]
4, Punjab/9<tief [Option ID = 30212]

Correct Answer :-
« Haryana/gRarom [Option ID = 30209]

24) Indian Subcontinent was mainly a part of —

HRART 3UHETEHIT HETd: U R a1 -
[Question ID = 15036]

1. Gondawana land /TisareT 8@ [Option ID = 30144]
2. Angara land/3{aTRT $1f# [Option ID = 30142]

3. Jurassic land /SRTT& ${f& [Option ID = 30141]

4, Aryvrata/3Tad [Option ID = 30143]

Correct Answer :-
« Jurassic land /SRTf&e #f& [Option ID = 30141]

25) Andragogy means

3igef 7 3ref }

[Question ID = 15058]
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3. Teaching Adult Education to school drop-outs/&hel Bigel arer T Yig fA&T & [Option ID = 30231]

4. None of the above/3Wiad & ¥ &Is &l [Option ID = 30232]

Correct Answer :-

« Arts and Science of helping adults to learn/aaFehl & W@ F A Ll T &all 3 AT [Option ID =
30229]

26) Harmonic mean of a series of data is

HTH3T Y U Gl FT gRANAS ATET F ATCId &
[Question ID = 15046]

1. Always ill-defined /g#2IT STAR IR [Option ID = 30183]

2. None of the above/3WRIFd & & HI$ 78T [Option ID = 30184]

3. The reciprocal of the arithmetic average of the value of various items/faf8ieeT aEJ3i & Ho & rehaTTOI
3 1 aREIRe [Option ID = 30182]

4. The reciprocal of the arithmetic average of the reciprocals of the values of its various items/39=t TaffieeT

FET & Fedl & IREIRNE & RO Had FT IREIRF [Option ID = 30181]

Correct Answer :-
« The reciprocal of the arithmetic average of the reciprocals of the values of its various items/3M9et faféieet

FGT & FAEAT & IRETNS & AT 3 T IREIRF [Option ID = 30181]

27) Jana Shikshan Nilayams were established for promoting

ST FASTOTATI AT Y deraT & & forw iy 3 arar ar
[Question ID = 15055]

1. Distance Education/gq&¥ fR1&1 [Option ID = 30219]

2. Continuing Education/ddd f1&Ir [Option ID = 30217]

3. Formal Education/3frqariies f2refr [Option ID = 30218]

4. Incidental Education/31er{&He fRredr [Option ID = 30220]

Correct Answer :-
o Continuing Education/&dd fRr&r [Option ID = 30217]

28) In which of the following arrangements a wider spectrum of ideas and issues may be made
possible

frrafaf@a & & frw saaear # ReEwt 3k 71 1 v sa19F Fagd oA @y aFhar e
[Question ID = 15040]

1. Workshop mode/arIemmelr #HIs [Option ID = 30158]

2. Symposium/&3sar [Option ID = 30160]

3. Conference/d#AelsT [Option ID = 30159]

4. Research Article/37e@eITeT 3ieede [Option ID = 30157]

Correct Answer :-
« Research Article/3{sT8eITeT 3fsTeee [Option ID = 30157]
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It is called.

AT FAT AT FAHAT HAIEY F ATAGS & IR H FNE AT 76T I 81 $& F8Q 8
[Question ID = 15044]

1. Distribution free statistics /faa¥uT #Ferel 3ifehs [Option ID = 30174]
2. Selected statistics /aafad 313 [Option ID = 30173]

3. Census/ST9T0TAT [Option ID = 30175]

4, None of the above/3dqRiad & & s &I [Option ID = 30176]

Correct Answer :-
o Selected statistics /aafad 3iTeg [Option ID = 30173]

30) Jhoom is —

qAE -
[Question ID = 15035]

1. A river /T 4T [Option ID = 30138]

2. A type of cultivation /Te 9 I @dr [Option ID = 30140]

3. A tribe of North East India /W‘{c‘f R T Teh Aot [Option ID = 30139]
4. A Folk Dance /e @it sJc [Option ID = 30137]

Correct Answer :-
« A Folk Dance /U& &ish Gl [Option ID = 30137]

31) Conducting surveys is the most common method of generating.

FEETOT FIAT [heT 3RS FY IcUT FIATe
[Question ID = 15047]

1. Qualitative data /[oTicH SeT [Option ID = 30187]

2. Primary Data/9raf#&e ser [Option ID = 30185]

3. Secondary data/&Teafae 3T [Option ID = 30186]

4, None of above/3WRIFd & & IS =7gT [Option ID = 30188]

Correct Answer :-
e Primary Data/9raf&e 3er [Option ID = 30185]

32) Scurvy (bleeding of gums) is caused by the deficiency of which vitamin-

THdl (A9 ¥ T aga) e Rrerfaer i wolt & giar 2-
[Question ID = 15038]

1. Vitamin C/faerf&sT €T [Option ID = 30151]
2. Vitamin A /faerf@= © [Option ID = 30152]
3. Vitamin K/faerf@« & [Option ID = 30149]
4, Vitamin B2/fderf&« & 2 [Option ID = 30150]

— Correct Answer ;-

o Vitamin K/ferf&er & [Option ID = 3%‘\‘/3%.FirstRanker.com
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33) Reliability is most simply known as which of the following

g Tdr e W 9 ¥ e F 9 fFad 70 & e S
[Question ID = 15048]

1. Appropriateness of interpretations on the basis of test scores./T8&T0T & 3{ehl o TR YT SATEITIT hr
39gerddr| [Option ID = 30192]

2. Ways in which people are the same/d dlieh fSieTet @iI9T FAT & [Option ID = 30190]

3. Consistency or stability/&a1far a1 f&2RET [Option ID = 30191]

4. A rank order of participants on some characteristic./Fe faRIWAT3iT oX FfAsmat & 3 S| [Option ID =
30189]

Correct Answer :-

« Arank order of participants on some characteristic./@ fawaT3it oX gfdsmiarat s ¥ $a| [Option ID =
30189]

34) Match the following List — I with List — II:

List—1I List — II

(i) Illiterate (1) Continuing Education Centre
(ii) School Drop-outs (2) Post literacy Centre

(iii) Neo-literate (3) Literacy Centre

(iv) Literate (4) Open Schooling

frafaf@a gt &1 Pam wY - g F w1 - I

g - I g - 11

(i) PReR (1) gaa fam &g

(iii) ¥er 319-33€ (2) 9T FI&RAT g
(iii) sTT-wTe™ (3) FTaRaT g

(iv) 9TeR (4) e TaezTerd e

[Question ID = 15059]

1. (i) (3) (i) (4) (i) (2) (iv) (1) [Option ID = 30233]
2. (i) (1) (ii) (2) (i) (3) (iv) (4) [Option ID = 30234]
3. (i) (4) (ii) (3) (iii) (2) (iv) (1) [Option ID = 30235]
4. (i) (2) (ii) (3) (iii) (4) (iv) (1) [Option ID = 30236]

Correct Answer :-
o (i) (3) (i) (4) (iii) (2) (iv) (1) [Option ID = 30233]

35) Match the List-I with List-II by using the codes given below:

List I List — II
(I) Rabindranath Tagore (1) Nobel Prize for economics
(II) H.G. Khurana (2) Nobel Prize for physics
(III) Chandra Sekar (3) Nobel Prize for literature
(IV) AmartyaSen (4) Nobel Prize for Biology

A U 1T F1z FT ITANT FIF gAI- 11 & T G- 1 F1 R #3:
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(I1I) 95 AT 3) mmmﬂw

(IV) 3T (4) she faermer & faT Ade R

[Question ID = 15063]

1. (i) (3) (i) (4) (iii) (2) (iv) (1) [Option ID = 30251]
2. (i) (1) (i) (2) (iii) (3) (iv) (4) [Option ID = 30249]
3. (i) (4) (i) (2) (iii) (1) (iv) (3) [Option ID = 30250]
4. (i) (2) (i) (3) (iii) (4) (iv) (1) [Option ID = 30252]

Correct Answer :-
o (i) (1) (iD) (2) (iii) (3) (iv) (4) [Option ID = 30249]

36) Jean Piaget gave a theory of cognitive development of humans on the basis of his

et Rt & 3raet fre s & JMUR X AsAl & FAETcAS A a1 v g R
[Question ID = 15042]

1. Evaluation Research/#ediehal 3ia&enT [Option ID = 30168]
2. Applied research/37esged 3eTaeTeT [Option ID = 30166]

3. Fundamental research /#ifeleh 3fef&en=l [Option ID = 30165]
4. Action research/aar$ 3fTdeT [Option ID = 30167]

Correct Answer :-
« Fundamental research /#ifeish 3teT&derT [Option ID = 30165]

37) NAAC accreditation of a university reveals

s faeafdeared & NAAC ATIaT &1 9dT TordT §
[Question ID = 15068]

1. The level of quality in the university/faafdemer & IuTacdr & € [Option ID = 30269]
2. The weakness of university/faRafdeaTerar s AT [Opt|on ID = 30271]

3. The advice given to the university/faeafagarerar I &r 315 "errg [Option ID = 30272]

4. The merits of the university/farafdezrera & 70T [Option ID = 30270]

Correct Answer :-
« The level of quality in the university/faRafdeaTerd & I[UTdcdT T R [Option ID = 30269]

38) What is the main objective of research?

AT T HET 327 FAT 8?2
[Question ID = 15023]

1. To summaries what is already known /RISl SiT 9gef & &1 AT & [Option ID = 30090]
2. To get an academic degree/Te &IT0Teh T33fT UTcT AT [Option ID = 30091]
3. To review the literature /&TfgcT hr FHETT AT [Option ID = 30089]

4, To discover new facts or to make fresh interpretation of known facts./ 7T T ST WIST FIAT AT ATT a4
BY o DAY I e e [Qption 1D = 300927
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« To review the literature /aTfgca T THEIT ST [Option ID = 30089]

39) What is a Patent?

TS 9 FAT ?

[Question ID = 15064]

1. Document of the library/¥deTerdl s g&dTdsT [Option ID = 30254]

2. An agreement between library and Publisher/J&cehTer iR Jehiereh & slier Ueh FHASIAT [Option ID = 30256]
3. An agreement between the inventor and the Government/3TTas&Re 3R TXHR & T Teh FHSAAT [Option
ID = 30255]

4, An agreement to the Government/&XeR & foIT Teh FHSIIAT [Option ID = 30253]

Correct Answer :-
 An agreement to the Government/TR&R & folT Teh F&SIAT [Option ID = 30253]

40) National Knowledge Commission was constituted in the year?

TSERT AT AN ST TS FRT 31T YT?
[Question ID = 15069]

1. 2003 [Option ID = 30273]
2. 2005 [Option ID = 30275]
3. 2004 [Option ID = 30274]
4. 2006 [Option ID = 30276]

Correct Answer :-
e 2003 [Option ID = 30273]

41) The principles of fundamental research are used in —

it sreaeTe & fAgral 1 39Aer fhar Sirar @ -
[Question ID = 15027]

1. Historical research/efagrf&e 2mer [Option ID = 30108]

2. Applied research /caTagTRe 3ieTd=¢ITeT [Option ID = 30106]
3. Action research /&RaTg 37TET=T [Option ID = 30105]

4, Philosophical research /g1efae 2iter [Option ID = 30107]

Correct Answer :-
« Action research /#RdTg 37&eTe [Option ID = 30105]

42) The study of gerontology is related to which of the following-
IRFSIATS T FT eTTT RAeafaf@d # @ Fad gafed %—
[Question ID = 15037]

1. Female /&fgaT [Option ID = 30146]

2. Old-age/9XTs1 33 [Option ID = 30148]
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4, Disease of skin/cadT T 19T [Option ID = 30147]

Correct Answer :-
o Child infant /dTer f%\r%g [Option ID = 30145]

43) The variable which impacts the relationship between an independent variable and a
dependent variable is known as-

TE I N UF FaaT W 3N 0F AT o F T g9 ) TT a1 8, 39 AT F T 7 1w e -
[Question ID = 15025]

1. Antecedent variable /Q(\‘ci":la [Option ID = 30097]
2. Precedent variable/g¥eia@r [Option ID = 30098]
3. Predictor variable/313TH =X [Option ID = 30099]
4, Control variable/fg=oT =X [Option ID = 30100]

Correct Answer :-
+ Antecedent variable /9d9g [Option ID = 30097]

44) The University Grants Commission was constituted on the recommendation of

freafaezTer sregerer maer it RAwier wv arfsa foram aram o
[Question ID = 15060]

1. Kothari Commission/ahI&IT 311eT [Option ID = 30240]

2. Mudaliar Commission/HeferX 31T [Option ID = 30238]

3. Dr. SarvapalliRadhakrishnan Commission/sT HaUeolRTENeSUT 3T [Option ID = 30237]
4, Sargent Commission/dsic &A1l [Option ID = 30239]

Correct Answer :-
« Dr. SarvapalliRadhakrishnan Commission/3T HaUeelRTETEHSOTT 31T [Option ID = 30237]

45) The concept of “global Village” gained acceptance mainly because of the developments in
the field of

"Tellarer AT Y HTUROT HT AET T F 3 819 & A & HRor FTwfa @
[Question ID = 15067]

1. Aviation/Tfauers [Option ID = 30268]

2. Sea transport/H#ET 9RageT [Option ID = 30265]
3. Communication/daR [Option ID = 30267]

4. Printing/#g0T [Option ID = 30266]

Correct Answer :-
« Sea transport/FHgr TRag=T [Option ID = 30265]

46) The research stream of immediate application is.

mmﬁmma@mm%ﬁ?
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1. Conceptual research /3R 3eTdUTeT [Option ID = 30081]
2. Empirical research/ﬁw 34@1—“1‘211?{ [Option ID = 30084]
3. Fundamental research /#ifeieh 3fef&en= [Option ID = 30083]
4. Action research/fsaTcser 3fTaeTeT [Option ID = 30082]

Correct Answer :-
« Conceptual research /d=mRe 3fedeT=T [Option ID = 30081]

47) The National Bank of Agriculture and Rural Development (NABARD) was set up in the year

T F¥ 3T aretor e 3% (NABARD) # ¥um9am @ 9 27 73 o
[Question ID = 15061]

1. 1982 [Option ID = 30243]
2. 1980 [Option ID = 30241]
3. 1984 [Option ID = 30244]
4. 1981 [Option ID = 30242]

Correct Answer :-
o 1980 [Option ID = 30241]

48) Research ethics do not include
I Y Aifaewar 7 AT TE ¢
[Question ID = 15032]

1. Objectivity/fersagrar [Option ID = 30128]

2. Subjectivity/cafehdaehdr [Option ID = 30126]
3. Honesty/3ATTGRT [Option ID = 30125]

4. Integrity/qoTaT [Option ID = 30127]

Correct Answer :-
o Honesty/g#TeeRY [Option ID = 30125]

49) A researcher divides his population in to certain groups and fixes the size of the sample from
each group is called

U AMUHT HTA MY TATEIT B 0 fAafRa gag W RFnfra Far § 3K 73 797 F 797 & JHFR
fruiRaFa A Fea

[Question ID = 15043]

1. Quota Sample/arIeT F#IT [Option ID = 30170]

2. All of the above/3uterd Fa{T [Option ID = 30172]

3. Cluster sample/aFel&cX 7T [Option ID = 30171]

4. Stratified Sample/Tiehd =T [Option ID = 30169]

Correct Answer :-
« Stratified Sample/Eiehel F#=AT [Option ID = 30169]
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